W=1200LLF W=1200LLF W=1200LLF 100~270 @
20
by FL—IL(AL)
DP11532 S| @
1 hyFL— L IHAL) I D
67.5 475 NOTUS9712 ‘ :E?
[ PBF_AyEL S EZ(SUS) —|—R @
~ ‘ \ ¥
e = 0“ JL—/A—=EfH#(AD) ‘ A
2 - | SL2323 1 x| | i
=8 | s ; 2|
1 d ﬁzﬁ/)l/ /\ (AL) | o
p |
o | S70358B e
’é\'L 3 4%35 q%ﬁ‘? @ 4') k(AL 1 E%
o[ VI ol No.52 s ——— s —— S T4~ N
o V) i b5 RN L(SUS) S ;‘% @
% | M4 x 8 (P=350) A1 £ 2
3 ZHE(AL)
%J\ / S5545 @
5N 55
J| o
£ ¥ 8 “SQ% |
* * ¢ o ‘
¥ g'g § vi 5’&% | FILIVALTUH— (AL
*
WX ‘il TS400A-(80.100.120)
o % | FREYERL (P-SUS)
g |
M4 x 25
% o FEAL RN /S — () ME7Ry T v AL @
S X PS55MKN-C 7<FHRIL MG x 20(SUS)
% LE FREyERL (P-SUS) TIVEYAL T h—(AL) TIVISYAU T H—(AL) BXHI ST vk (AL
% | M4 x 25 TS400A-(80.100.120) TS400A-(80.100.120) K72EWHA
o . N
o N | LR R/ N — (BiR5) ZHE(AL) kv FL—IL(AL) X#E(AL) IURX vy (HHR)
i d % | AR ERLRE O0OMKN-C $5545 DP11532 S5545 DP11532ECP2-L/R
- 3 \ | AL (SUS) B s B YRR 7 h—(SUS)
’LI‘\IL = % ‘ M4 x 8(_E FDH) A= ya e—0 s SGA-M8.~M8 x 35
ol J FELRER N— ()
1l — ©O1—
a3 ) PS55MKN-C =~
1\1 o ‘ )
Té £ 3 i B
* Lo —0—0
*
o T JL—/A—E{t#4(AL) \ d4)RYMAL)  FSRINRD(SUS) \ JL—/\— I—IN—ITUR Xy EE)
SL2323 No.52 M4 x 8 (P <350) $7035B S7035B-ECP R(L)
S BER7 N~ L—"—a1U b B ¢ 41U YRAL JL—/A—ER {1 (AL)
S M12&2 4 DRILE(SUS) 5 omm No.52 SL2323
S Jo—i\— L3k 2 Jo—i— Lihik 2 Jo—i\— Lotk 20
SRR =180kl k£
W=1200L4F W=1200L4F W=1200L4F 100~270
EEEIE RIAMI80KFIFX80mm T U h—IXERART, XOER; XHREVFIIKFEFEREICLYELGYET, KEXFISTYNMIA T arTT,
T WrE X THEHFHER
JAN — £ £ A A IH% Y PN N ¥ ®E |#ERE B &
/ Ef"%-I» ﬁE (I -
i 1" R | | ”#ﬁicn*i#/b W | | | @ |TEAR
ﬁ = 2 = A = 2% 7LiFE GG # R (A3)=1/8,1/25
A _— B i@ | | ML —/\— SL-HB7035-DP11532-T

#5E B :2006.12.07

hEH: 2010.6.22

#-033



